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Before answering the questions, ensure that you have been supplied with a complete and
correct question paper. No claim in this regard will be entertained after examination.
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General instructions:

i) All questions are compulsory.
ii) Write the correct option in objective type questions.
iii) Marks of each question are indicated against it.



Section -A
Physics
HITeehr

Q1- Which of the following materials cannot be used to make a lens?
a) Water
b) glass
c) plastic
d) clay

Q1. FafefEd 3 A si-a71 yard oig 91 & fAg 3ga 18 fomar s asdar
a) gt

b) &I
o e ®d

d fug

Q2- 1 kilowatt is equal to
a) 3.6x 10%J

b) 3.6x10°6J

c) 3.6x10%J

d) 3.6J

Q2. 1 fmare ger & a9 -

a) 3.6x 10%J
b) 3.6%10°
c) 3.6x102J
d) 3.6J

Q3- Sl unit of electric current is

Q3. faeg@aemT &1 SI aE® 2

Q4- Name the part of Eye where image is formed?

Q4. 999 A9 & B9 A ¥ R yfafdd aaar &2



Q5- Following question has two statements

Assertion (A):- white light dispersed into seven colour components by a prism

Reason (R) :- Different colours of light bend through different angles with respect to the incident
ray as they pass through a prism

a)Both (A) and (R) are true and (R) is the correct explanation of (A)

b)Both (A) and (R) are true but (R) is not correct explanation of (A)

c)(A) is true but (R) is false

d)(A) is true but (R) is also true

Q5. fFrfafed v & & 97 &: 3fieu= (A) 3R &1ROT (B), U4 & T fRy 70 3uga fasea
&1 I9- B §U 3R SIS0l

3TTUS YA (A): Y- F1fv21 & vt & e A sy avl Raré &ar 2, 519 vddars &t
uts Td & 31R 8 1

ST (R): UTHY Y 41 ¥ TS U1ad= & HRYT berrd 81T & 3417 31faw faswol iis &1 317
it &

(a) AT RSHT T & TUT R, A T TET AT 21

(b) AT RS T & AT R, A o1 T aa=eAT 71 21
(c) A T & U R 3194 &l

(d) A 37T & Ui R 94 &

Q6- Define the following terms :-
a) Dispersion of light
b) Spectrum
Q6. Fafafaa & ufeuran Ef5g:
(a) UBTT &1 fasrqor
(b) qofehy

Q7- Why are coins of electric toaster and electric iron made of an alloy rather than a pure metal
OR



An electric motor takes 5A from a 220 V line.Determine the power of motor and the energy
consumed in 2 hours.

Q7. fagra 2w @yt fagga swafval & ara= 31agq [ger arq & T 1 fed firsnq & i
10 59 &2

3Ydar

oI fagla AeR 220 Vv & fagra A | 5.0A fagla art &ar 21 aer &t afaa Faifa Sizo
qAT 2 ¥ H HIST §RT 3UYar 3311 ufvbferd HIfyl

Q8- What is the effect on resistance and resistivity of a conductor if:
a) Length of conductor is increased
b) Area of cross section is increased?

Q8. ufarYer gd ufeRyerasdT Uz &1 Y9Td 9sdT &, afe
(i) ITCTS IR I (TdTS d¢T &1 SATY?

(ii) 3TTIHY BT BT ATB dgT faaT STY?

Q9- a)Mention two factors on which the force on a current carrying conductor depend
b) What is an electric fuse? write its advantages.
OR
Show with an experiment that the magnetic field is produced around a conducting wire when
current flow through it.

Q9) (a) fp RTATEY ATA® U AT ITAT 9 fob &) PRabI R A Hear &2
(b) fare[a w7 fondt heql 87 39S T T 27

3Ydar

uanT g1 fAger &1 b ot arere ar A @ faga amr yaifea o ur 39® 9Ri 39 Jadhia
&7 379 81 A7 8l



Q10- a)What is refraction of light? Write down the laws of refraction.
b)Which mirror do we use as rear view mirror in vehicles and why?
OR
A Concave lens has focal length of 15 cm at what distance should the object from the lens be
placed so that it forms an image at 10 cm from the lens

10. (a) UeBIRT BT 3TUac-T &T &2 3T9ad- & fan fAafaE|
(b) T aTE1 &b YT <Y UT P ¥ & HIH-1 g7 BT 3ug1T B & 37k )7

(2+3)
3Yar

(a) fopit 3Taae o &Y Bidsd g 15 AT 3] fda & Aa A frat g ur W P gad gr1 fag
FIag Ao N @ R ufafdaaizs

(b) edoT 7 fAfEgl

(c) 39 g4UT &1 A1 Sa1sU N faa o1 Trerm a1 3aféfa ufdas s m a2

(3+1+1)

Section -B
Chemistry
T =TT
Q11- Name the substance which eels bleaching powder when reacts with chlorine

a) Gypsum (CaS0O,.2H,0)
b) Slaked lime [Ca(OH),]
c) Quicklime(CaO)
d) Limestone (CaCO;)

Q11. 39 9Ty BT A9 FaT30 31 it & 31 uferar o fatstes gof =ran @-

(a) f3IaH (CaS04.2H20)

(b) ST §3T AT [Ca(OH)2]



(c) fa=T g3 A1 (Ca0)

(d) AT IR (CaCO3)

Q12- Which one of the following types of medicines is used for treating indigestion?
a) antibiotic
b) analgesic
c) antacid
d) antiseptic

Q12. 3799 BT YR B & Ay B 3 A foa 3itufe o1 3umm aar &2

(a) FtaTafes mfcstfa®)
(b) PATEATH® (GISTERN)

(c) Uefas

(d) gerafes mfareh

Q13- is a metal which is best conductor of heat

Q13- - U 41 & 511 W1 H 76 37] IS il el
Q14- What are alloys?

Q14. g T e &2

Q15- The question below consist of two statements assertion (A) and reason (R), answer the
question by selecting the appropriate option given below:-

Assertion (A):- White silver chloride turns grey in sunlight

Reason (R) :- Decomposition of silver chloride in presence of Sunlight take place to form silver
metal and chlorine gas

a)Both (A) and (R) are true and (R) is the correct explanation of (A)

b) Both (A) and (R) are true but (R) is not correct explanation of (A)

c) (A) is true but (R) is false



d) (A) is true but (R) is also true

Q15. Fafafea uy ¥ ) H9 2 31firsy= (A) 31R SROT (R), U4 & R &y Ty 3uge
faeeg &1 a9 B §U 37 110l

31THS YA (A): The fAear FWIR1SS {1 HI AT H A 81 57T 82

SIRUT (R): G & UH1R1 B 3ufRafa ¥ fieaw awiRTss &1 31que feaw arq 31k awa i
91 & AU grar 21

(a) AT R 1Y T & YT R, A Y TET ATEAT 21

(b) A @ R @Y1 T & TTUT R, A Y TeY SATAT T8 &1
(c) A Fed & Ui R 3194 2

(d) A 37H & Ui R 94 &l

Q16- Why should a magnesium ribbon be cleaned before burning in air?

Q16. g ¥ ST A e iR fra= &) w16 @l fosan srar #2

Q17- Why do HCL, HNO; etc. show acidic characters in aqueous solution while solution of
compounds like alcohol and glucose do not show acidic character?

Q17- HCI, HNO, 311f& STt faera= & 3reeig 31firereror o) uefia oa € s1afe Oopiea
U4 Tt 31 ifiresl & faera- A 3refiaar & 31faaaroT 7€) yefia e &2

Q18- How do metals react with water?lllustrate.

Q18.6TqU 5T & ATY frH TR fobar Hedl &2 AHsmsUl

Q19- lllustrate the following terms in relation to metals:



a)ductility
b)conductors of heat and electricity
c)sonorous
OR
lllustrate the extraction of zinc from its carbonate Ore with the help of chemical equations.

Q19. &3 & Haer F fAw gl H st Hifse:

(i) T
(i) 9T U4 fagld & qaras
(iii) &aTf®
3AYar
Frafc 379%6 A f5id anq & o &) Tamafas aHleoll gRT wE &1
Q20- a)Why is the conversion of Ethanol to ethanoic acid is an Oxidation reaction? Write the
reaction also.
b)What is an homologous series? Explain with an example.
OR
a) Draw the electron dot structure for
*Ethanoic acid
'st
*Propanone
b) Why are carbon and its compound used as fuels for most applications?
Q20-(a) TATA A TAATsSP 3% § Ufiacd=T B 3iTaiaeor 3rfufar ol wea & s1fufesar ot

fafaol
(b) FHSIT T A0T T &2 3STER0T & AT IHSSUI

3Ydar

(a) Soiarg [ fa=g AT 9Ty :
(1) AATSH 375

(i) H.S

(i) A=



(b) HTE U4 3HS ATl &1 39T 31fdresar 3 & g & ¥ J o4 fopar sirar &2

(3+2)
Section -C
Biology

sitq fasm=
Q21- Ozone Layer protects the Earth from rays:-
a) uv
b) infrared
c)red

d) none of these

Q21. 303 TR gt B _fHolt A gard 2
(a) RIS
(b) 3Taa

(c) eiTed

(d) 39 |q HIS &1

Q22- Which of the following is not a part of female reproductive system in human beings?
a) ovary

b) uterus

c)vas deferens

d) fallopian tube

Q22. {7 & A B "qTST S 3177 BT W TEl &2
(a) 318
(b) M

Q23- Autotrophs take energy contained in sunlight and convert it into energy.



Q23. [WUY TR Uh1R1 A fAfEd 31t B UsvTr Heb_____ FH31T § daea 2o &l

Q24- Name the hormone which controls the level of sugar in blood.

Q.24 IFd T o AT et aTel gTATT T AT FaTv |

Q25- The question below consist of two statement assertion (A)and reason(R) ,answer the
question by selecting the appropriate option given below:-
Assertion(A) :Energy is required to carry out different life processes
Reason(R) :Energy is obtained in the form of ATP in the mitochondria
a) Both (A) and (R) are true and (R) is the correct explanation of (A)
b) Both (A) and (R) are true but (R) is not correct explanation of (A)
c) (A)is true but (R) is false
d) (A)is false but (R) is true
Q25-Fmfafea uy 4 St w1 & (A) 3R SROT (R), 94 & A & 71y 3uged fasea &1 ag=

&d §U 3R a5yl

31fia = (A): faf¥s sita ufssan3il &1 @1 & & fAu Haf &Y 3mawar il 81
SIRUT (R): ATSCIHITEAT I 35311 gl & F9 & ured el 27

(a) AT RSHT T & YT R, A T TET AT 21

(b) AT RS T & TqUT R, A o1 W& sa=eAT 71 21

(c) A T & U R 3194 &l

(d) A 37T & Ui R 94 &

Q26- What happens at synapse between two neurons?

Q26- &Y ST HIRABIIHT (GRT) & Hea srava (e & ot 8rar 82

Q27- What are unisexual and bisexual flowers? Give examples.

Q27-gafaT ga ffet qur aur 81 82 3arevor &

10



2
syl
Q28- What are different methods of contraception? What is the importance for sexual health?
Q28. fafim mifRas gieral eia-w & 5199 Tarea ¥ 391 a1 Hew &2

3

Q29- Round seedes plant (dominant trait) was crossed with the wrinkled seeded (recessive
trait).

e What would be the shape of seeds in F; generation?

e What would be the percentage of round seeded plant in F, generation obtained by

self-pollination of plants of F, generation?
Explain with diagram.
OR

Define heredity.How does the mechanism of heredity work?

Q29. M HTHR b 15T (TUTAY FAOD ITA Gt BT FRTAR 131 (3T FA0D IT@ did &
HTY BT HIATAT T

(i) 9 Fafa & gtal & @) &1 3TER T ?

(i) feara Frafa & Taurmmor gRT ure famam ufazma gtal & dis mMeer gy e afea s
S5yl

HYdal

HTafRIdal s g uTfia &Y FaRiear srdfafa fea yor &1 aidl &2

Q30- a)Write three differences between aerobic and anaerobic respiration in human beings.
b) What is the role of saliva in digestion of food?
OR
a )Draw a well labelled diagram of human digestive system.
b)What are the necessary conditions for Autotrophic nutrition?

11



Q30.(a) AT 3717 AT [q9 & €19 19 37aR fAf@o|
(b) W31 & 9T H &R I 41 YT &2

37ydr
a) AT9d 9T oF &1 AHifed [T 99101
b) WU NIyuT & fAY 31194 2Uraf &1 guig B

(3+2)

12



